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I Semester B.Sc. Degree Examination, Nov./Dec. -2019

KANNADA BASIC

(Regular)
Aok, TR0 - 1

Time : 3 Hours
Instructions to Candidates: i
LR TN WOBH eb&)@ﬁ ST.3 e BOMYTO.

1. 2007 R»c;pcada dme@wFSSQ BOBRITT wﬁod:abﬂl DBOD.

| (Clopp))
‘TIBS03 TR’ T, YRNE TTF, T, QFORD.
2. ‘TRFS0eREnt’ 098 B,2058 FTR,BI), DBOAD.
(Clabp))
DPT[TTER ? LT3 FTAT W2 LN QIORD.
3. Ben JUF €D WBC0.
) Zned ood
i) I TR
iii) Pzansd
iv)  SRFSoWIRH
V) SSEE WS
vi) 30 203,28
4. L5 mug ROTPFBRBI FXFTORD.
) ‘2PSedmgth wIY BRI’
i) @D BRBTIT Q0T aziadzie&’
iii) ‘Becd ReeER sa'%ésam?e d)agjen’
iv) ‘e RS Brdod e, on’

Maximum Marks : 80

(15)

(15)

20)

(15)

v) ‘Bt 708 Seomd §oHss) 2,033 Tort 03T, 6T 2,30,

P.T.O.
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5. wode 393,39 eVZ0R0. (15)
) OORENF QST ?
i) TOARRCS VY, 01T IR ?
i) 2POF ATOIROT 09T IR 2,
iv) ‘Isned oo’ BSTTE T 03N ?
V) .. DO%0S00 Tpeor BITERD ?
vi) 2080 WF 0w ayoqacadado 3R ?
vii) Memeﬁgﬁm STz Tate] ugﬁg@ o3RO 2
vii) ‘TG BT’ TSI 0 IR ?
ix) TeID wFF cIROTLER ?
X) T30 FRJ0D NTE o3RT ?
xi) 02.0D. PITMETT SB[A RIAT O, ?
xii) 2,68 00T T § oIRDW ?
xiii) ‘PIVOTTED ?7” SeDIT 7 F 03T ?
Xiv) 2IFT WEENTOT AR, 000 TATO G ?
xv) U398 edo:q ST D, ?
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I Semester B.Sc. Degree Examination, Nov./Dec. - 2019

ENGLISH (BASIC)
VIBRANT ENGLISH
(Regular)

Time : 3 Hours Maximum Marks : 80
I.  Answer the following objective type questions in a sentence each: (10x1=10)

1)  What is the common goal of science and religion?

2)  Whose life Khushwant Singh portrayed in “The portrait of Lady™?

3)  Who call their country ‘Nippon’?

4)  Who are fragile little things in a dangerous world?

5)  Name the author of “Time to Ignite the Minds of the People™.

6)  What does Parthasarathy see everywhere in the afternoon of May?

7)  What does the Pardah protect the woman from?

8)  Who is the narrator of the poem “Mirror”?

9)  What is the beauty of Maud Gonne Compared'in the Poem “No Second Troy™?

10) What does the poet address the blossom as?

IL  Explain the following statements with reference to their context one from prose and one from

poetry. (2x5=10)
1)  “The important elements that constitute a nation are: being disease free; wealth; high
productivity; harmonious living and strong defence’.
2)  “Thereis one God-Brahma and he is greater than the whole world, for he created it”.
3)  Dustthickens it, The squalid city groans under the loo.
4) “Why should I blame her that she filled my days with misery.....?
M. 1) Explain how Kushwant Singh portrayed the life of his grandmother. (1x10=10)
(OR)
2)  Discuss the ending of the story “The Coffee House of Surat™.
IV. 1) Critically appreciate the poem “To Blossoms™. (1x10=10)
(OR)
2)  Write an essay on theme of the poem “Delhi”.

P.T.O.
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V.

Write short notes on any one from Prose and one from Poetry.

1)
2)
3)
4)
A)

B)

O

. A)

B)
®)

Kalam’s Idea of a “Developed Nation’.

Science and religion.
Central idea of the poem “The Pardah Nashin®.

Write a brief note on Central theme of the Poem “Mirror™.

Fill in the blanks with suitable articles/prepositions:

AR R T G

The Property was distributed --------— two brothers.
We live ~--------- -- Banglore.

Ramesh arrived --—--- two O’clock.

He is. ----------- -- best boy in our class.

Gold is ===~ precious metal.

Change the following sentences as directed:

1.

bt i

This shirt is too small to wear. (Remove too, use so........ that)

If you work hard, you will pass. (Remove if use unless)

China is one of the largest countries in the world. (Make it positive)
Itis a beautiful flower. (Make it exclamatory)

As soon as the bell rang, the students came out. (Use no sooner-than).

Draft a brief report on study tour.

Prepare a draft of self-introduction.

Draft a welcome speech, which you will have to deliver in a programme.

Write an imaginary dialogue between patient and a doctor at a clinic.

(2x5=10)

(5x1=5)

(5x1=5)

(1x5=5)
(1x5=5)
(1x5=5)
(1%5=5)
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Degree Examination Nov/Dec - 2019
HINDI BASIC MIL
(Regular)
(?)mmmm(?)m(a)mm

Time : 3 Hours : Maximum Marks : 80
. Tl @ wwl & s g fifRaw | 1 x10 =10
2. UH H Ud FEHl b o@H w1 AW F E |
() SHg (3n) avare (3) SweeE
. bt & R w1 oam o= 2
() fggma (M) W7 . (3) wiEww
3. To@ st = w1 @ o 2
() et (a) ol (3) wem
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() v (3m) =vEe (3) sfw we
4. UEE WEAG B A W F S 3 H el § 7
(%) @M (3N) P (3) W
§. AW H WH e gl ?
(31) 2%33% (3mM) 2¢3°3 (3) %033
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(1) g (3m) =R (3) owwHE
¢. 3@ HEH F UGE UH ®HA g ?

() vy (3m) BRee (3) &%
[P.T.O.
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I Semester B.Sc. 3/4 Degree Examination, Nov./Dec. - 2019

MATHEMATICS (Optional)
(Repeater/Regular)
Paper I: Differential Calculus
(New syllabus w.e.f. 2014-15)

Time : 3 Hours

Instructions to Candidates:

by Question paper has three parts namely A, B & C.
2. Answer all questions.
PART-A
Answer any TEN of the following :
|
1. a) Ifa>b,ab>0then;<gvabER
b)  Provethat Ixyl = |x|| yl‘v’xy €R
c)  State Borel covering theorem.
d)  Define uniform continuity.
e)  Findthe ,* derivative of (ax + b)"'
f)  Findthe ,* derivative of sin xsin2x
g) Ify=log(ax+x2)thenﬁndyn
h)  State Cauchy mean value theorem.
)  Expande* by using maclaurins series.
j)  Find *C’of Lagrange’s mean value theorem if f(x)=x(x—1)in [0,2]
lim
k) Evaluate , 7, log, sinx
im |
D Evaluate x 51475

Maximum Marks : 80

(10x2=20)

P.T.O.

I}
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N

10.

11.

12.

PART -B
Answer any FOUR of the following questions: g (4x5=20)
State and prove Archimedean property for real numbers.

1
X.sin—, =0
Examine the continuity of f(x)= e at x=0.

0, x=0
Find the ,,* derivative of e sin(bx +¢)
State and prove Rolle’s theorem.
Verify Cauchy’s mean value theorem for the function f(x) = sinx,g(x) = cosx in[a,.b]
Evaluate:
1-cosx

lim ————
P o0 log(1+x)

b) lim (cotx )

x =0
| PART-C
Answer any FOUR of the following: (4%x10=40)
a.  Provethat ||x|-|y||S|x-.yi,Vx,y eR
b.  Provethat:

a+b+c+d
a) T?-.‘Uab(:d b) a>b&c>d then a+c>b+dVa,b.c,de R

ay I Pgi f(x)=L )21_13 g(x)=m then prove that }‘_‘Pa [f(x)+g(x)]=1+m

b) pro.ve that a continuous function in a closed interval is uniformally continuous in that interval.
a)  State and prove Leibnitz’s theorem for ;" derivative of a product of two functions.

b) If y=sin(msin” x) thenshowthat (1—x* )y,., - @n+1)xy,., —(n* - m* Jy,= 0

a)  Stateand prove Taylor’s theorem with schlomich & Rouch’s form of remainder.

b)  Obtain by Maclaurins theorem the first five terms in the expansion of log(] +sin x)

5 W lim x(l —acos x)+ bsin x 1
a)  Find the values of ‘a’ &b’ in order thatx — 0 o may be equal to 3

x—m;()[—l-— ! :|
b) Evaluate i O
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I Semester B.Sc.3/4 Degree Examination, Nov./Dec. - 2019
MATHEMATICS (Optional)
(Repeaters and Regular w.e.f.2014-15)
Algebra And Trigonometry

Paper -I1
Time : 3 Hours : Maximum Marks : 80
Instructions to Candidates:
b & Answer all questions.
2 Question paper contains three Parts namely A, B, C.
PART -A
Answer any TEN of the following: (10x2=20)

a)  Define symmetric and skew symmetric determinants.

I 0 1 1

1 1+x 1 1
b) Provethat|l 1 1+y 1

1Rl 1 4z

c¢)  Define elementary transformations of a matrix.

1 -1 2
d)  Find the rank of a matrix T
13 4

e)  Write the condition for consistency and inconsistency of system of linear non-homogeneous
equations. ‘

f)  Define an equivalence relation.
g) . State De Morgan'’s law’s for indexed family of sets.
h)  State factor theorem.

i)  Find the quotient and remainder ondividing x* —7x* +4x+3 by x—2.
- j)  Express Sin(x - iy) in A+iB form.

k)  Find the general value of log(ﬁ = i).
P.T.O;




35134/A340/42134 @) TR A

a+ib ()
)  Provethat log( b) =2itan 1(—) .

a—i a
PART-B
Answer any FOUR of the following: e (4%5=20)

x+a b (% d

+b - d
X i =x’(x+a+b+c+d)
Provethat | a b xX+c

a b c x+d

1
1
Find the rank of a matrix | 2
3

2
2

4 | by reducing into normal form.
6

~N B W N
SN -

Test the consistency and solve x+ y+z=6, 2x—y+3z=9and x—y+z=2.

Establish the relation between roots and co-efficients of a,x” +a,x"" +a,x" > +.......... +a,=0
Prove that the unit interval [0,1] is uncountable.
Expand cos’ @ in terms of cosines of multiples of g.
: PART-C
Answer any FOUR of the following: (4%x10=40)
a) IfAisadeterminant of order 4 andif 4'isits reciprocal determinant, then prove that A' = A%,
if A#0.

12 '22 32 42

22 32 42 52 v 0
b) Provethat|3* 4* 5% 6°

42 5 2 6 2 7 2

a)  Prove that interchange of pair of rows do not change the rank of a matrix.
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by elementary transformations,

= NN

1 1
b)  Find the inverse of a matrix : .
1 2

10. a)° Prove thata subset of denumerable set is either countable or denumerable, -

b)  Provethat y x N iscountable, where ‘N’ is the set of all natural numbers,
11. a) Solve the equation gy* —13x —35x% — x +3 = (0, one root being 2_J§.

b)  Find the roots of an equation 4x* — 752 — 5x+1=0 by synthetic division.
12. a) Ifcos(4- iB) = x+iy then prove that

2 2

: X IS 55 L 1
z cosh®’ B sinh® B
: * 5
IL T o=
cos“ 4 sin® 4
b)  Find the sum of n terms of the series cosa +cos(a + f)+ cos(a+2 B)+....... to ‘n’ terms.
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Time : 3 Hours

CHEMISTRY
(Optional) (Regular)

Maximum Marks : 80

Instructions to Candidates:

1) All questions are compulsory.
QR BINONR GVSORORT @ OD.
2) Answer all the questions in the same answer book.
R, BINOMR wodse evgs ®E,FeY03e GVSORD.
3) Draw neat diagrams and give equations wherever necessary.
SBVZOTY, GOTE 233, WRK I, LTOWD.
SECTION-A
FALADY 3 SN
I.  Answer any Ten of the following. - (10x2=20)

3T s:gq (10) =28, ev3dAD.

1. a)

b)

d)

State Pauli’s exclusion principle.

TPOOD AFTRBD® T, TeRO.

Define covalent bond with example.
UTBTFHOIR0DT ABWORH 2,85, TRRO.

How many significant figures does each of the following numbers have ?

i) 200.00 i) 8000.00

SOCRERT SoWTNEL AT, ANYTOL MO NTI TRODS 2
How do you prepare 250 cm’® of 0.1N KMnO , Solution ?

(Eq. Wtof KMnO, is 31.6)

0.IN & 250 cm® KMnO, &) Sert 3030»0%08¢0 ?

P.T.O.
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e)

g

h)

)

k)

@) A A

Define sublimation.
QUBBEIT 9,35, BRRO.
Draw chair and boat forms of cyclohexane and show axail equatorial hydrogens.
FERTBRET Be0° R eees THWINEDY WA GNP, FFHEROODS
F,E0R, W), SRCORD.
What is hyperchromic shift ?
TR, FWT AP, DOTTEID ?
Give law of corresponding states.
ROMOE 8D T FRR BREO.
What are azeotropic mixtures ? Give an example.
03RER,AT 0B, ENYORTER ? LUIIBTE BRRD.
What will be the nature of aqueous solution of ammonium chloride ? Give reason.
eRR00 3RESET wOEh TRHHG APFHE) 7 0 IR
State nernst distribution law.
JY3, ST TR HEO.
Write the electronic configuration of copper.
T AT ATYA LWOCWD.

' SECTION -B

Nggon - B

II. Answer any Four of the following. (4%5=20)
23 BeINS T Y, - YOI0A.

2. Derive anexpression for energy of an electron in Bohr’s n" orbit for hydrogen atom.

@Re0S nt BFODYOH FER, ewT’ TCRPEVIT ATTD B3T3 oWB s TEOWO.

3. Explain the formation of H, molecule on the basis of Valence Bond Theory.
iR, mY Srds SBSobR) FES 1R0E FO STe 20ed 2BORD.
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4. How EDTA is used in the determination of hardness of water ?

Q0T NBEROSIDI), TOR HRCIVWY, EDTA &) Ieri evmodnensozd ?

i

Tom®

What are conformers ? Explain the conformational analysis of ethane.

m%c; QROTTERD ? P aafcp—ad’@eaa: B0 WWORD.

6.  Explain different types of electronic transitions involved in UV - Spectroscopy.
UV - F3RARLNO0D IBPIFTT QURRT TODSFINGRY DBOR0.

7. Define critical solution temperature. Discuss nicotine water system with neat diagram.

3,838¢F APe0IY HomTe3on w5 FPRD. VBT HWT® [IFOD Teamwese,
B0 WWFAD.

SECTION-C
QTN - A

Answer any Four of the following. (4x10=40)
TINSYNTYY, 2365003 ToYF TR, GVZORD.

8. a
b)
9. a
b)
10. a)
b)

Explain Bohr-Sommerfeld model of an atom.

wneot -mmcm; DOBIVED mwowg@ DWOAD.

Write a note on errors in quantitative analysis.

TOBNRFIZT DFERFHBODACOD TREHNY O £353¢d LTOD.

Describe the separation of liquid-liquid mixtures by fractional distillation.

BB-B,3 W neR) ©088 ks APRNT NpeRR0T e BRSTIY, QEORD.
Discuss the staBility of cycloalkanes based on Baeyer’s strain theory.

al{oveler] 'k;eﬁf Fed speta Boed FIpuSerne A déo:oaig{ W3,

Discuss the geometrical isomerism in 2 - butenedioic and with EZ notations for them.

2 WEET T wOT AT I, S0 VARTOOIT’ BOB WWFA. RN
EZ mogesndmy wdod.

Explain steam distliation in purification of organic compounds.

&N E‘b&@@%dméod AE300E FOCKIBNTSY ﬁxé BREBTT, DTORD.

P.T.O.
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11. ~a)
b)
12. a)
b)

4) | IRIRNEWERTARER RN

Discuss phenol-water system with respect to critical solution temperature with neat diagram.
TS -TDUT TIF DO 3BT Apw)T® Bowdess’ wii Seannds, IR
WeSFAD. _ :

Calculate the pH of 0.5M aqueous solution of sodium acetate at 25°C (Given Ka for
CH,COOH =1.75x10 and Kw = 1.008 x 10"

BOCREIRT T FOME WIREROT 25°C I, ApeB00 LaEEFS 0.5M wecd
9,290 pH MOFT0 RRE.

State the law of corresponding states & derive reduced equation of state from Van der
Waal’s equation.

W GT° FOAWORON AL TP WD BO WS INOCTCLN0T  TRRD
RO0ETTLTI), FORXD.
Derive an equation for the pH of aqueous solution of salt of weak acid and strong base.

QT AT T MO WeRnE 0 wAOD 2,363 pH BTN BAOEBTED
WEOWD.
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I Semester B.SC 4 Degree Examination, Nov./Dec. - 2019

PHYSICS(OPTIONAL)
Paper: (Fresh New Syllabus 2017-18 onwards)
(Regular)
Time : 3 Hours Maximum Marks : 80
Instructions to Candidates: *

) Use Simple calculators for calculations.
i)  Write detail intermediate steps.

PART -A
1.  Answer any TEN of the following: ' (10x2=20)
a)  Showthe graphical representation of SHM for acceleration varies with time.
b)  Whatis the principle of rocket?
¢)  Define angular momentum.
d)  State the law of conservation of energy.
e) State the theorem of parallel axis.
f)  Define poisson’sratio.
g). Define young’s modulus. _
h)  Whatis bending moment? Write the expression for it.
1) Define surface tension.
j) - Define coefficient of viscosity ofa liquid.
k)  Calculate the escape velocity. If the radius of the earth is 6400 km and acceleration due to
gravity is 9.8 m/sec’.
) Calculate the distance between centre of suspension and oscillation of a uniform rod, if the time
period of oscillation is 2 sec (g=9.8 m/sec?)
PART-B
Answer any FOUR of the fon)wi11g. {(4x5=20)

2.  Derive anexpression for kinetic energy and-potential energy for a particle executing SHM.

State and explain kepler’s second law of planetory motion on the basis of angular momentum.

P.T.O.
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4. Derive an expression for the excess of pressure inside the soap bubble.
5. Calculate the moment of inertia and radius of gyration of a circular dise of mass 1.2 kg and diameter
1.8 m about an axis passing through its centre of gravity and perpendicular to its plane.

6.  Adiscofmass 1.5kg and radius 0.15 m is suspended horizontally by a vertical wire of length 0.7 m and
radius 0.5mm. Ifthe period of torsional oscillation is 5 sec, calculate the rigidity. modulus of the material
of the wiré. :

7.  Calculate the vescosity of giveh liquid when a steel ball of radius 5% 10~ m falls through it with terminal
velocity 30m/sec. Given density of steel ball=7.8x10° kg/m* and density of liquid=0.87x10°kg/m’

PART-C :
Answer any FOUR of the following: (4%x10=40)

8. What are elastic and inelastic collisions? Show that total kinetic energy of the system after collision is
less than the total kinetic energy before collision in an inelastic collision.

9. Define escape velocity and orbital velocity. Derive an expression for the orbital velocity and time period
of revolution for open and closed orbit.

10.  Define neutral surface and neutral axis. Derive an expression for the bending moment.
11. Whatis compound pendulum? Derive an expression for the periodic time of a compound pendulum.

12, Describe an experiment to determine the surface tension and angle of contact for mercury by Quincke’s -
method.
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I Semester B.Sc.3 Degree Examination, Nov./Dec. - 2019
| PHYSICS (Optional)

(Repeater)

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:

L Calculators are allowed for calculations.
2 Write intermediate steps.
PART-A
Answer any TEN of'the following: (10x2=20)
1. a)  Graphically represent the variation of PE and KE with displacement for SHM.
b)  Whatare frames of referances?
c)  State the law of conservation of anguler momentum.
d)  Write an expression for period of revolution of the satellite interms of radius of the earth.
e)  Givethe physical significance of moment of inertia.
f)  Whatisacompound pendulum?
g)  Wirite the relation between Young’s modulus, modulus of rigidity and Poisson’s ratio.
h)  What are torsional oscillations?
1)  Defineangle of contact.
j)  Distinguish between streamline and turbulant motion.
k)  Calculate the excess pressure inside the spherical drop of water of diameter 4 x 10~ ; . Given
T = 755102 NN
) Calculate the torque acting on a rotating body of M I 0.05 kg m? and angular acceleration
0.32rad/sec’.
PART-B
Answer any FOUR of the following: . | ; (4%x5=20)

2. Obtainan expression for resultant motion of two rectangular SHM’s of the same period.

State and explain Kepler’s II law of planatory motion.

4. Write a note on elastic constants.

P.T.O.
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10.

11.

12.

A circular disc of mass 1kg and radius 0.2m is making 120 rpm about its diameter. Calculate the MI
and kinetic energy of the disc.

Poisson’s ratio for an elastic material is 0.5 and Young’smodulus 2.5x10'° Nm ™ . Calculate the rigidity
modulus.

Calculate the excess of pressure inside a soap bubble of radius 1.5 %107 m . Given the surface tension
of soap solutionis 25x 107> Nm ™.

PART-C ,
Answer any FOUR of the following: ’ (4x10=40)

State the law of conservation of linear momentum. Explain this in case of variable mass. (2+8)

‘What are geostationary satellites? Derive an expression for period of revolution of a satellite. ~ (2+8)

State and prove perpendicular axis theorum of MI. Derive an expression for MI of thin rod about an
axis passing through its centre and perpendicular to its length. (5+5)

Define neutral surface of elastic material. Obtain an expression for couple per unit twist produced ina
wire. (2+8)

Describe with relvent theory, Quinke’s method of determining the surface tension of mercury.  (5+5)
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I Semester All U.G. Courses Degree Examination, Nov./Dec. - 2019

INDIAN CONSTITUTION
(Repeater and Regular)

Compulsory

Time:9.00 a.mto 10.30 a.m (90 Minutes) Maximum Marks : 80
Instructions to Candidates:

»(1) Check for complete printing of 80 questions.

(2)  The last page of the question paper may be used for rough wort.

(3) Each question has four Multiple Choice Answer and choose the correct one.

(4) Darken the appropriate circle with the ball pen.

(5)  Damaging/overwriting using whitener on the OMR Sheets are strictly prohibited.

(6) No candidates will be allowed to leave the Examination Hall till the end of the
session and without handing over his/her Answer Sheet to the Invigilator:

(7) Candidates should ensure that the Invigilator has verified all the entries and that
the Invigilator has affixed his/her signature in the space provided on the OMR
Sheet.

[P.T.O.
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1. Theemergency provisions of Indian Constitution were borrowed from.

- (A) Russia (B) US.A.
(C) Germany (D) Canada
B020F wd%ao:o BEPTOONTI), I Be3T BoDTID0T esojo%ira%:emﬂd.
(A) dmé B) eedH
(C) =RDER: D) 33w

2.  Parliamentary Democracy as has been envisaged implies:
(A) Representation of the people
(B) Responsible Government
(C)  Accountability towards the legislature
(D)  Separation of Executive from Legislature

Identify by following code

(A) A,B,CTrue (B) A,C,DTrue

(C) A,B.DTrue ‘ (D) B,C.,DTrue

pSerstaldove! gma_j)woa:z@ FFND o::a@m;* WENRORT.

A) mIZD 9,80, (B) =@2Rd ITHT

(€) ZoRToONG w=owW0 (D) ToAJOND) FIOINFOMOOT vieTrestoess.
BINT TOFEBNLOT MOSFA.

(A) A,B,Cz0 B) A,C,D=xd

(© A,B.DAd (D) B,C,D=d

3. Thefollowing articles protect the rights of the minorities in India.

(A) Article-23 and 24 (B) Article-25and 28

(C) Article-29 and 30 (D) Article-32

FINS CIRST YN 23903 @eih‘oasada’d &o@e'}_z%’ms% T3AE QPNYNGS.
(A) 23020 243e QL B) 25 0= 283 AN

(©) 29 == 30S¢ DOMED D) 32320
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4.  Recently government of India has abrogated article 370 and 35 (A) for which state these articles relates

or belongs.

(A) Jammuand Kashmir (B) Hyderabad and Karnataka®

(C) -Telangana (D) Panjab

a8 et Se0s, F5oF T oDTORS 370 TN 35 (A) DRNTR TR BAAE. 2 AL 0N
oazsﬁ?dowo@ﬁuﬁ.

(A) maﬁs.g/ai:@ 508 ¢T B) 'o-%’pgmwf TWOB) TRIF E3T

(C) Boomes (D) oW

5.  Oneofthe following is an example of a flexible constitution.

(A) USA (B) Swiss
V@ BiS (D) *Australian

AT (320, k‘oa)qmséd VTR OTOING O™ QINT.

(A) 000w (B) AT FRT Y, 0E
(C) VR (D) Q'SP&GGDOC'U‘D

6.  Which one of the following amendment reduced the voting age from 21 year to 18 years ?

(A) 52nd Amendment (B) 60th Amendment
(C) 61stAmendment (D) None of these
03RS STHEOIN WOBTIIT SODIT), 21 00T 18 T BERANG.
@) 528 sSoTB B) 603¢ @@
(©) 613 SDTA D) BRI B,

7.  Rightto property has been granted by one of the following Articles of the Constitution, which one is it?

(A) . 299 (A)Article - . (B) 300 (A)Article
(C) 301 (A)Article (D) 302 (A)Article
O30T DROIN B3 BITY, FTRO uté ab'@t’oda K'ﬁ;@ém&d.

(A) 299 (A) Je B ~ (B) 300(A)Se 20
(C) 301(A) e 20 D) 302(A) e

[P.T.O.
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8.

10.

11.

The 52nd Amendment Act deals with
(A) Anti-Corruption Law
(C) Neither (A)nor (B)

52 e SRTR CARTHO B0 Feeh3 .

(A) %WWT QeRe TOOBD.
(©) (A)eEm (B) 30

The term of Rajyashabha is

(A) 4years

(C) 6years

oaz:;mjom B0T0 BRI
A) 43=F

(C) 6z=F

B)
D)

B)
D)

B)
D)

B)
D)

10941/ A980/ 10911/10901
Anti-Defection Law
Both (A) & (B)
TF08T desers Toc3),

(A) 353 (B) S0 F0

S years

Permanent

5 DAE

8390300

The Joint sittings of the two houses of the parliament is presided by

(A) The Speaker
(C) ThePresident

. WOL BRNETIB @Zp’agié’ BEROTRT.

(A) =P8

©) oomms

B)
D)

(B)
D)

The Vice President

The Prime Minister

w'a*oaa'éwé

&, PO 3008,

When does the President of India is empowered to promulgate ordinances ?

(A) The Lok-Sabha isnotin Session

(C) The Parliament is not in session

©) =omsy vRBEREQLRTN

B)

The Rajya Sabha is not in session

(D) None of the above
WU3T caﬁaméojoo o33N m@mgam% BROGBROTIT ? ,
(A) &res Dot RBEITY BN (B) Dok, Ao RFeIIEY, a0 dmIn

D)

RS IR B
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12.  Who certifies that a particular bill is money bill ?

(A) The Presidentof India (B) The Speaker of the Lok-Sabha
(C) TheFinance minister (D) None of the above

cIREYTIe TORATIRY, BEIBAT BIRABOI0E AGFORTHT 03RT> 2

(A) 03T TR B) dresaziab 2eE0’

(C) =ca5R0R0g, D) oD CIRPT B,

13. Emergency Provisions have been incorporated in the following articles.

(A) Article- 131,132 & 133 (B) Article- 153,154 & 155
(C) Article-170,370A, 370B (D) Article - 352,356 & 360
0B>F TORIODR), FeeAFT VPO CARTY) ?

(A) 131,132 @3 133 e 2pMRD B) 153,154 303 155 Je pnsH
(C) 170,370A 532 370B Se QML D) 352,356 S 360 Je N

14. Article 368 deals with
: (A) Special status to the state of Jammu & Kashmir
(B) Legislative Councils in certain states.
(C) Method of amendment of the Indian Constitution
(D) None ofthese

368 e DQOI WRDTY, B0 eSS,
(A) =R W) 52§ 08T QIR m@éﬁmd
(B) DS TORER AOLOHAT

(C) RoDTHIT STTEROID DGR
DRI B,

[P.T.O.
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15.  Which of the following schedules relate to the division of subjects between the union and the states ?

(A) Schedule-III (B) Schedule-IV

(C) Schedule- VII (D) Schedule-XII

FPNT 03 9[0RPLI03D Fe0%, TN To%, e JJCSaSCb‘ BOTT H0LT OB SPROST.
(A) - 0= -11I B) w0IRW-1V

(C) RS- VII D) e[mees-XII

16. District Judges are appointed by whom ?

(A) ThePresident (B) The Governor

(C) The Chief Minister . - (D) TheDeputy Commissioner
VR, T, odn@@ddgt C3RTO Fe:0T [WRESIT ? ' '

(A) Oaﬁge—"ué (B) Tox O

(€) =oD:0g0c00s D) BRHTO

17.  Which Union Territory has a High Court of its own ?

(A) Pandicherry (B) Chandigarh
(C) Delhi (D) Lakshadweep
03533 Fe0T, BYE B, 368 SFTe &T T EReLF BRODT.

(A) =0&RBed B) Bo@nz

(©) TzO (D) @i Qem

18. 'Which one of the following is incorrect ?
(A) The Vice-President should be a citizen of India
(B) The Vice-President should have completed 35 years of age.
© He should have qualifications of member of Lok-Sabha.
(D) Heshould have the support of the majority party.
FSNT NI BePFO30 BTNT.
(A) W&“@ﬁua’aém WUST oNOTmaNTLIEBD.
(B) mwma‘;ﬁao&w 35 3&'0841; wwa:@( BROJTLIeR.
(C) =D Sressgiod ATH DN [T @c‘o’?"&’&béﬁ% TRODTLIEED.
D) L[ WRORIE TET TS Wowe BEOTLIEB.

S —  ———
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19.

20.

21.

22

Who among the following occupied the office of the president for two terms ?

(A) Dr.S. Radhakrishna (B) Dr. Rajendra Prasad

(C) DrZakir Hussain (D) Dr.S.D.Sharma

23 FINTSTQ, 3T AT 1700 TIFBE BOTI0NTY B0FOATTT BNTT.
(A) . oacsa%d;gj : (B) oodeon, T,TT

(C) 28T BORe* X ' D) @2.S.D. 3RRF

By whose advice are the ministers in the state appointed by the Governor ?
(A) The Prime Minister

(B) - The Chief Minister

(C) The Speaker of the State Legislative Assembly

(D) The President

O33R0 FOBOD e Tt TOT W08, YR, Fex08 IREST.

(A) TS 200og, (B) =008,
(C) T LSRR FeeEe (D) oaaéa%

In whose name are the executive powers of the state exercised ?

(A) The Chief Minister (B) Governor

(C) Vidhan Sabha (D) Vidhan Parishath
0%, T3 T2000RF ONCD BHTONED ANT FHOTE), RTINS,
(A) maaéa)og (B) cam?smmdo

©) oAy : D) TS TO=

The Chairman and members of the joint public service commission are appointment by the

(A) The Chief Minister (B) Governor

(C) The President (D) Vide-President
%0t SResless o3RG 85 303) SeQRdTHTO oIRt.

(A) wwaba,aﬁaoéﬂ (B) OCox RO
© oosu;su‘é (D) emacaauaé

[P.T.O.
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23.

24,

25.

26.

Who among the following was the first Deputy Prime Minister of India ?

(A) Murarji Desai (B) Y.B.Chavan

(C) L.K.Advani (D) Vallabai Patel

B3 3YNT 0 ;30300 RUSH [RTO VT, 7S [0S, 0dRN FT; ASFEATIT.
(A) ToRTEF WETOW (B) Y.B. w0

(C) v D) JLIOW Ttdew

The bill [Legislative] means

(A) Adraft legislativ.e proposal (B) A draftexecutive order

(C) Adraftordinance (D) Adrafttreaty

(ToREONTE) SRR D0BTERD ?

(A) DORTONT TTR T)ADS (B) BoCIRFONG FOR AT
© m@mgcdo fi{o]ece) D) wToBE FTE

- Who was the Chairman of Drafting Committee ?

(A) Dr.B.R.Ambedkar (B) Jawaharlal Nehru
(C) . Sardar Vallabhabhai (D) K.M.Munshi
RODTTT FOED S0 5, TT 3R ?

(A) .BT. Lo’ B) BT B
(C) AT BYYIoW Tedew . @) K.M. 30033

How many types of citizenship granted to citizens of India ?

(A) Single Citizenship (B) Double Citizenship
(C) Triple Citizenship (D) None ofthese
iplefevelelyinsee) 208 TPTS_VEBSING.

(A) 9T oz B) opoEss

(C) &9 Jondess D) SR B,
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27.

28.

29.

30.

by which amendment right to property dismissed ?

(A) 42nd (B) 43rd

(C) 44th (D) 55th
ROQTIOIE 0303 STNTROD TRLT B3 BEI, STIBRTINT.
(A) 42 Se sDIB B) 43 Je ST
(C) 44 3¢ ST ' D) 553e STWIA
What deals with Article 51 (A)

(A) Rights (B) Duties

(C) RightofReligion (D) Rightto Property
51 e (A) DHOID DT, ELRTT.

(A) o“o'ﬁ)c ned _ (B) 63&7’)5 ned
© T D) serEmR
Abolition of titles by this article

(A) Article-19 ' (B) Article-18
(C) Article-14 (D) Article-20
WITRIOAT) dz:‘% BRRED DY BTNG.

A) 19320 B) 18 Fep

(C) 143e B D) 20 Je )

Which article tells about uniform civil code ?

(A) Article-40 (B) Article-44

(C) Article-42 (D) Article-43
DTFTRDE TN0T :jo&oécsoa’% B0 T AONTOIE NG QWINTG.
(A) 40329 (B) 44 3¢ 2B

(C) 423ep (D) 43 Je O

[P.T.O.
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31.

32:

33.

34.

Who will appoint Judges of Supreme Court ?

(A) ThePresident (B) The Prime Minister
(C) The Chief Minister (D) None ofthese
REpertd) ©9,00000IT 9, CIRQESTEY, CIRD) FEEIE IRTESYT.
(A) maéwéﬁ&.b B) T, W0, N
(C) B0,z008,Med (D) ot B,

Which type of government implement in India ?

(A) The Presidential type (B) Parliamentary type
(C) Dictatorship (D) Monarchy
LITSTE) 0355 BRTO ATFTRT.

(A) ©5 50D [INTO B) =oITDECD WRTWO
(C) ==FDTD R[RTO (D) mz:ag,a;a% P opiate)

Residency powers belong to

(A) Union Government (B) Local Government

(C) State Government - (D) Noneofthese

BT RTONS 03RO AedS ?

(A) Peowo ATET (B) k;@eoja PSDINO

(C) To%, REaF T D) O CIRFTO B&),

Who has the power to proclaim emergency ?

(A) The Parliament (B) The Council of Ministers
(C) The Prime Ministers (D) The President

B0B0F TWORSODT), PREAROT BHTHT QRONT.

(A) =mom3Y (B) 008ToB

(C) T,pom 0, ' (D) m‘%ﬁéﬁ%
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35.

36.

37.

38.

Which article prohibited slaughter of cow ?

(A) Article-48 (B) Article-350
(C) Artticle-356 . (D) Article-79
RReES, :o-&ecswmq TEFOT FONTORT DG VTN,

(A) 48 3e2p : B) 350 Je O
(©) 356 3e 0 D) 79 e

Who.is the Speaker of Lok-Sabha ?

(A) OmBirla (B)  Sumitra Mahajan
(C) Smt. Meira Kumar (D) Venkaiah Naidu
TA8 Sresmyiodd BLome ol ?

A) %o woer (B) A0, DTS
(C) 3 ee8 Q0eTe B:R3T (D) ﬁoﬁoﬁozs aacmga

How many subjects are enumerted in Central List (Union Llst)

(A) 100 B) 66
© 61 » ®) 55
$€0T, T3 oD DRODMTR ?

(A) 100 A (B) 66
(©) 6l @) 55

Under which article joint session of parliament will be called ?

(A) Article-108 (B) Article-120
(C) Article-100 . " (D) Article-150
AODTIRT 037E DO &)TT 2083 B@ﬁwﬁdc‘&gt FB0308 3.
(A) 108 S¢ QB B) 120 3e 28
(C) 100 Je 28 (D) 150 J¢ 2B

[P.T.O.
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39. Who is the Chairman of Rajya Sabha ?

(A) Vice President (B) The President

(C) Prime Minister | (D) Chief Minister

Do, RLIOD ZeTomS 03390NTIERT ?

(A) en)woawwé /A (B) an'eﬁé

(C) BTOSR0S, : (D) ROD,I0

40. What is the number of elected members of Lok Sabha.

(A) 545 (B) 543

(C) 544 (D) 560
neRRiods BTOWS RER,8 R0s '

(A) 545 (B) 543

(C) 544 i (D) 560

41. Which house of parliament is subject to dissolution ? y
(A) RajyaSabha (B) LokaSabha .

(C) Two house of Parliament / (D) None of these
R0ReT 3RS ABIR) DRBEIN WD doéd ?

(A) cmsi?dz,s (B) ¢ResRY

(C) RORET DTRE BBINDL ' (D) C3RRT EQ,

42. Who is the head of real executive ?

(A) - Law Minister ’ (B) Home Minister
(C) Prime Miniﬁter (D) Speaker

asdu FO0, onw abaa)zs:o; T 03T ? .

(A) TORRI W03, (B) 0,®R08,

(C) B,7S R0, = ‘ (D) FPBE
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43. By whicharticle amendment will be made to the constituion ?

(A) Article-356 B) Article-368

(C) Article-310 (D) Article-315

H0DTIRE GRS HRODH SRS FODFINE, SRBRANIR), TREETNG ?
(A) 3563e 2B B) 368 3R

© 310820 ' @) 315320

44. Who is the present Chief Election Commissionar of India ?

(A) B.C.Danova ' (B) Sunil Arora
(C) Rajukumar o (D) Karmbeer Shing
)33 womemTe SOIRNT BT sm/am) 3o 03T 7

(A) B.C. B3pc0%* (B) ROV &TRET
(C) ToxBOmIRT : (D) TTOWET AOTY

45. Which Prime Minister's birthday was celebrated as children's day ?
(A) Lal Bahadur Shastri (B) Indira Gandhi
(C) RajivGandhi (D) Jawaharlal Nehru
LA DTOWTFBOIO, 239033 O30 o :008, (0v?] Zsa;’&mwdeao:b VWS 63256?5@37133{3‘7
(A) O WHITBRT® ToA, B) QDT RO

(C) Tow3em MRoY D) BRIRTR® 3eRD

46. Who has the power of pardon ? |
(A) PrimeMinister : (B) Chief Minister

(C) LawMinister (D) ThePresident
SnRR SRE SORUNR), BEW $600HRS ? '
@) TS =00 B) oD, H08,
(C) TITRD W08, ' (D) ca 28

[P.T.O.
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47.

48.

49.

50.

What is the term of members of Rajya Sabha ?

(A) 4years B)
(C) 6years (D)
0925, R0 FWR, T SHTIT LHHOIN

(A) 43&F , (B)
(C) 6=RF D)
Fundamental rights are

(A) Justiciable B)
(C) Legal D)
BRVYRT BINWD PN,

(A) 0 TsE (B)
(©) e wE, D)

Who is the leader of Majority in Loksabha ?

10941/A980/10911/10901

3 years

S years

3 ¥&RE

5 DRE
Non-Justiciable
Moral

K)Dsccb di:%wcgq
L]

%33

Prime Minister

Finance Minister

&, oS 00&, N

(A) Speaker B)
(C) Defence Minister (D)
o wEEbE SEE TIR FeE AFNDTS.
(A) RPmEND (B)
© dim =00, N (D)

The subjects of national importance are with

(A) Parliament (B)
(C) State Government (D)
Oaé’%eo:b a’o&'e;ﬁdd WRODNE BTNT.

(A) RoR) B)

(C) oTow, ATFT : (D)

TEFTOAD 008, M1

Election Commission

Central Government

0TI odRen

F60T, RUFO




0 0 A RO €C25)

S1.

92,

53.

10941/A980/10911/10901

How many members are nominated to Rajya Sabha

(A) 23
©) 12
T, BT SORTCEIRRYE BT, 0 "02s,.
(A) 23
(© 12

Who presides joint session of parliament ?
(A) Lok Sabha Speaker
(C) Vice-President

B) 8
(D) 24

(B) 8
(D) 24

(B) President
(D) Prime Minister

203 BRTWEIIT ST,FI00TY, CINTO BTV ?

(A) Spedod AeEe

(©) emaoa;-:éwé

(B) ©FIH
(D) BFos 008,

What is the minimum age for the qualification of President ?

(A) 35 (B) 40
(C) 30 (D) 25
ma;ﬁéa:imﬁw (Crnied 5?&%@&% 501)2;3_603?\6&3@53 ?
(A) 35 (B) 40
(©) 30 (D) 25
ndia 18 s s state

(A) Sovergin
(C) Secular

(A) =R
(C) T=OFATHET

(B) Socialism
(D) All the above

(B) AR0zz00
(D) DT QP

[P.T.O.
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55. The final interpreter of the Indian Constitution

(A) . President (B) Parliament

(C) State (D) Supreme Court
IRTBT FODTODBR, ST FROT S083 BRTTD)

(A) T3 cﬁdi o) (B) =om

(C) oo%g ned (D) h’ﬁﬁerzi) 39, 03RO

56. Who administrators oath to the President of India ?
(A) Governor
(B) Prime Minister :
(C) ChiefJustice of Supreme Court
(D) High Commissioner
Uo";ﬁéﬁ@ﬁ T, [RED WISV, BREDBORI.
(A)  TIRTOD
(B) TR 0N
© x@aer%md O33R 0IT 0D, T3, CBTRETTO
(D) &;3 FRORIO®

57. Whoisresponsible to Lokasabha in Parliamentary démocracy ?
(A) President
(B) Council of Ministers headed by Prime Minister
(C) ChiefMinister
(D) Governor
FomRecdd 2395, BEEO, ERETALIT CCRT &I ITO BMIST ?
(A) ex3B | B) eS8 nedeIRteoR 0ga0mEY
(© ma%::po_a) ned (D) mz:gmexjo
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58.

89

60.

61.

Number of schedules in Indian Constitution
A 12
© 21

(17)

5790363 HoRGIRBO TS Bovderry o,

@A) 12
@ 21

The Chief sources of political power in India is

(A) Thepeople
(C) The President

RTBTE Totsdeodd BRHTITH SR &5300.

A =33

© owiﬁé

Finance bill in which house first has to introduce

(A) RajyaSabha
© Loka Sabha and Rajya Sabha

(B)
(D)

B)
D)

(B)
D)

B)
D)

B)
D)

10941/A980/10911/10901

08

Parliament

The Constitution
AOREY

0NN

Lok Sabha

None of these

BEITORD ab:i@dodamq RRTLD ol ATITE) BooRTLIe.

(A) Doz XY

(C©) dnes | oo% R

Minister must to be member of
(A) RajyaSabha
(C) Parliament

3008, Meb FYORION VWS AW, TINTLIER.

(A) oazsézsm

(€) oz

B)
D)

B)
D)

B)
D)

el
w0eOT cdRTe B,

Loka Sabha

None of aboye

dregRyn

0T CARPTR B

[P.T.O.
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62.

63.

64.

10941/A980/10911/10901

How many times a bill is to be discussed before it becomes a law ?

@A) 5 i (B
©) 4 D) 2
BORRTOIL0T FOIATIN POT WTLeTTT Q) 10 3IFRLIEB ?
@ 5 ® 3
© 4 RN (D) -2

Who is the first woman President of India ?

(A) SuchetaKriplani

(B) Indira Gandhi

(C) Vijayalakshmi Pandit

(D)- Pratibha Devi Singh Patil

FOTIT WRTO TO&TD Oa'e%déﬁ% C33T0 ?

- (A) RO FTIU

B) @olTINROY
(C) dwocHS eToRS
W&

D) 8% TEDAON T3V

According to which article Attorney General will be appointed ?

Aa) 74 ®B) 75
(C) 76 , D) 77
LV WITVSF VTR, SERBRRITD 1.

(A) 74 ®B) 75
(C) 76 @) 77
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65. Match the following list Ist with list IInd by choosing the correct code.

(A)
B)
©)
)

(A)
®)
©)
D)

33 3END won -1 @K‘QL I1 B $R3R O3RN BRODR.

(A)
®)
©
D)

(A)
(B)
(©
D)

List-1
Article-41
Article - 44
Article - 47

Article-48 (A)
Code

A
2
2
3

N W W
"'"—‘-PO

-+ 1 2

List-I

41 Se D

44 Je B

47 3¢ Y

48 (A) Se DB

DoFeBNSL
BTTE

(o%)
~

= I oS B oS -
N W
—

D
1
4
4

3

D

fe—

I

1)
2)

4)

1)
2)
3)
4)

List-I1I

Protection of Forest
Right to work
Uniform Civil Code

Prohibition of toxic thing

List-I1
eﬁdsazs toTotac)

=5
emzﬁméeﬁd 5&6
DTBRTINOT xoaos

0T, FTIVBOS 00 TOPF WP

[P.T.O.
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66.

67.

68.

69.

Which one of the following article deals with the appointment of High Court Judge ?

(A) Article-214 (B) Article-217
(C) Article-226 - (D) Article-216
CURE Q0T TBRCLF T, 8RHETT FeadFT Wi PRI,
A) 214320 B) 217 Jc 29
(C) 226 Fe 2D D) 216 e 20

The Vice-President is the Ex-Officio Chairman of the

(A) RajyaSabha (B) Lok Sabha

(C) Planning Commission (D) None ofthese

LIR0BE LUBDTIRBENG ————————~ 0 T DB, S5 FTINTT.
) ) der @

(A) oo A B) deesxgd

(C) cdnexm sodnen (D) CIRF &),

Which Union Territory send their members of the Council of States ?

(A) Diu& Daman (B) Dadra & Nagar Haveli
(C) Andaman & Nichobar " (D) Deheli & Pandicheri
FINT cx Feom, @Y T, BeINed Tows, BN 33 ATE, TR BRI 2

(A) B3N BB B L B) mom, B SRS BFed
(C) ©oERPST F) JedRwWT D) Bed I3 ToRWed

In which article of the constitution of India has the joint sitting of the Lok Sabha and Rajya Sabha ?°

(A) Article-101 (B) Article-108

(C) Article-133 (D) Article-102

QRS DRODT D ARETRYI 0B Tz eIodd) %0ed @@ﬁemwz&g‘ FEODRNIBEH ?
A) 20101 B) 20108

(C) 25133 D) 28102
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70. The National Commission for schedule caste was established under of Indian

Constitution.
(A) Article-338 (B) Article-250
(C) Article-180 (D) Article-142
oaa%eoda TOSH, Won® eS503RENY) RODTIIT 03I HCIT I TSCINMIBE ?
(A) 5338 B) K250
(C) 8180 (D) 2B 142
71. By which procedure the President of India may be removed before the expire of the term

72:

73.

(A) bythe Supreme Court (B) Impeachment

(C) Dby the Vice President (D) None of these

L0ST oaa;ﬁéo:b&gt O3 DFIRE BIROTF SWHN PR B BPTITR0T ST TIFLITOT.
(A) RO, e0BREEIFOTI B) SozYodeen

(C) emau‘cmaaaécaaod (D) P B

Who is the Supreme Commander of the Armed Forces in India ?

(A) The Prime Minister - (B) Minister of Defence

(C) The PresidentofIndia (D) The Commander in Chief
DRT BENE BNTITOBNDOITTO 03TV ?

(A) &P W08, (B) T =08,

(©) oa%a’é D) ROTITOBSICIITO

Which writ issued by a High Court or the Supreme Court to compel an authority to performa functlon
that it was not performing ?

(A) Writof Certiorari (B) Hebeas Corpus
(C) Mandamus (D) Quo Warranto

A, 0BpeLIF 0B é&amrmf; O3R® BEF =T W), caamao:bm TR AW &RUIETT .
@o:’ora’m Eowr&wmoé @m&méd

(A) Ho)r03med0 B8 (B) TICIT TITFA
(C) S, 0mRF D) BwRe [T0ER
[P.T.O.
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74.

7:

76.

Tile

First women Judge to be appointed to Supreme Court was

(A) RaniJethmalani (B) AnnaMalhotra
(C) FathimaBeevi (D) LailaSeth
RO, 0 BREE3FTT SeROBRROT T, FRO WD T, 03RHETTO C8RTJ ?
(A) ©ogd zéea;paa B) o=, RS,
(C) T8RP Ve D) Y Aed

Who is the Chief Law Officer of India ?

(A) Solicitor General (B) Attorney General
(C) Secretary Law Department | (D) Advocate General
0SS 3,73 RO SHTIOIRT 2

(A) =OAIT® BWITS® (B) RV ésﬁde:‘
(C) TR VLS TOF WS D) ©rRF BIT?

Who has the authority to approve President Rule in the State ?

(A) Parliament (B) Lok Sabha

(C) StateLegislature (D) Council of State
B3 FYNS 030N Ua%?u’é SYFODRY, R, WRES SRTIORNG.

(A) =omz) B) ey

©) DRI D) oS TOER

In the Union Govt. the council of Minister is collectively responsible to the

(A) President (B) Prime Minister

(C) Lok Sabha (D) RajyaSabha

603, 008, WORVE) FOBUDETIN 3 FYNT 037ON KoLV DOIRNTOZT.
(A) caa;a’é B) T,FoIWO0E,

(C) ¢cessyd D) Uazzzs:sz_j
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78. Who decides allotment of symbols to political parties ?

(A) Political Party Leader (B)
(C) Election Commission (D)
03730 Taesdecdd WINPT W) Vw3 ?

(A) TomEeOD agzs RINCple] B)
(C) Wowsee Badren (D)

79. Total No. of schedule in constitution of India is

A) 22 (B)
(©) - 97 D)
53%730&3@335@1 oo tsab:ﬂ.razsw :30935.

A) 22 (B)
<€ 97 D)

10941/A980/10911/10901
Prime Minister
High Court
= 03,
éaé.raear
17

12

17
12

80. InIndia when both offices of President and Vice President happen to be vacant simulteneously who will

discharge the duties of the President.

X (A) Prime Minister (B) Home Minister
(C) Speaker of Lok Sabha (D) ChiefJustice of India
DT FOOT TOF TS W2 SVTOOHBE ®0T 390 TN ToFHE BT 03, TOTRRAIIRN 03T
B &RITIT.
(A) Tpeax0o0s, (B) @3B/
(C) Sresay] AR (D) k‘éraerzimdmvcmw 20D, T2, CDDEB




